
CHEMISTRY

BOOKS - NAGEEN CHEMISTRY

(ENGLISH)

CLASSIFICATION OF ELEMENTS AND

PERIODICITY IN PROPERTIES

Example

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb


1. Predict the blocks, periods and groups to

which following elements belong: 

Mg

Watch Video Solution

2. Predict the blocks, periods and groups to

which following elements belong: 

V

Watch Video Solution

https://dl.doubtnut.com/l/_hCDEEEzZ8fGI
https://dl.doubtnut.com/l/_DOtl4wZxVVZO
https://dl.doubtnut.com/l/_BDJ61rUU76f6


3. Predict the blocks, periods and groups to

which following elements belong: 

Sb

Watch Video Solution

4. Predict the blocks, periods and groups to

which following elements belong: 

Rn

Watch Video Solution

https://dl.doubtnut.com/l/_BDJ61rUU76f6
https://dl.doubtnut.com/l/_82gwQXrxSXmP
https://dl.doubtnut.com/l/_BLjUsNZg5Sec


5. Give the formulae of the species that will be

isoelectron c with the following atoms or ions

: 

Ne

Watch Video Solution

6. Give the formulae of the species that will be

isoelectronic with the following atoms or ions

: 

Watch Video Solution

Cl−

https://dl.doubtnut.com/l/_BLjUsNZg5Sec
https://dl.doubtnut.com/l/_FqU7Zy5ZsYVu


7. Give the formulae of the species that will be

isoelectron c with the following atoms or ions

: 

Watch Video Solution

H −

8. Give the formulae of the species that will be

isoelectron c with the following atoms or ions

: 

Rb

https://dl.doubtnut.com/l/_FqU7Zy5ZsYVu
https://dl.doubtnut.com/l/_1EaseH8cXRuj
https://dl.doubtnut.com/l/_bkpuIgapOUiv


Watch Video Solution

9. Which of the following pairs would have a

larger size? Explain. 

Watch Video Solution

K or K +

10. Which of the following pairs would have a

larger size? Explain. 

BrorBr−

https://dl.doubtnut.com/l/_bkpuIgapOUiv
https://dl.doubtnut.com/l/_Hs2IspNlLfBe
https://dl.doubtnut.com/l/_kGHVIkA6wq2y


Watch Video Solution

11. Which of the following pairs would have a

larger size? Explain. 

 or 

Watch Video Solution

O2 − F −

12. Which of the following pairs would have a

larger size? Explain. 

 or 

Watch Video Solution

Li+ Na+

https://dl.doubtnut.com/l/_kGHVIkA6wq2y
https://dl.doubtnut.com/l/_UHOjv4HPl8oj
https://dl.doubtnut.com/l/_LqCPiiizGC4M


13. Which of the following pairs would have a

larger size? Explain. 

P or As

Watch Video Solution

14. Which of the following pairs would have a

larger size? Explain. 

 or 

Watch Video Solution

Na+ Mg2 +

https://dl.doubtnut.com/l/_LqCPiiizGC4M
https://dl.doubtnut.com/l/_AiZuQUMfQw4U
https://dl.doubtnut.com/l/_rtjfdMmBiXRW


15. Arrange with explanation the following

elements in the order of increasing ionisation

energy. 

X(Z = 4) , Y(Z = 5), D(Z= 6), E(Z= 11)

Watch Video Solution

16. Which element in each of the following

pairs of elements would you expect to have

lower first ionisation energy? Explain. 

Cl, F

https://dl.doubtnut.com/l/_rtjfdMmBiXRW
https://dl.doubtnut.com/l/_xcMWQuWWgHj4
https://dl.doubtnut.com/l/_fMxrhrw5AtrC


Watch Video Solution

17. Which element in each of the following

pairs of elements would you expect to have

lower first ionisation energy? Explain. 

Cl, S

Watch Video Solution

18. Which element in each of the following

pairs of elements would you expect to have

https://dl.doubtnut.com/l/_fMxrhrw5AtrC
https://dl.doubtnut.com/l/_dLjK13F7IUel
https://dl.doubtnut.com/l/_ERpxah0aCFfy


lower first ionisation energy? Explain. 

K, Ar

Watch Video Solution

19. Which element in each of the following

pairs of elements would you expect to have

lower first ionisation energy? Explain. 

Kr, Xe

Watch Video Solution

https://dl.doubtnut.com/l/_ERpxah0aCFfy
https://dl.doubtnut.com/l/_ooeEVsm0isPm


20. The first ( ) and the second 

ionisation energies (kJ ) of a few

elements are given below : 

 


Which of the above elements is likely to be 

a reactive metal?

Watch Video Solution

IE1 (IE2)

mol− 1

https://dl.doubtnut.com/l/_EwweBeWf84LR


21. The first ( ) and the second 

ionisation energies (kJ ) of a few

elements are given below : 

 


Which of the above elements is likely to be 

a reactive non-metal?

Watch Video Solution

IE1 (IE2)

mol− 1

https://dl.doubtnut.com/l/_yAGhWEgOynjk


22. The first ( ) and the second 

ionisation energies (kJ ) of a few

elements are given below : 

 


Which of the above elements is likely to be 

a noble gas?

Watch Video Solution

IE1 (IE2)

mol− 1

https://dl.doubtnut.com/l/_27qgTGtySTZz


Review Exercises

23. First and second ionisation enthalpies(in

KJ/mol) of few elements are given below: 

 


Which of the above elements will form halides

with formula ?

Watch Video Solution

MX2

https://dl.doubtnut.com/l/_RgUUegCJON1K
https://dl.doubtnut.com/l/_njXCJz8lUNtp


1. On what basis did Mendeleev classify the

elements ?

Watch Video Solution

2. Which of the following pairs of elements

were found anomalous in Mendeleev's

periodic table and why ? 

Ar and K 

Fe and Co 

Co and Ni

Watch Video Solution

https://dl.doubtnut.com/l/_njXCJz8lUNtp
https://dl.doubtnut.com/l/_Hh7kEJO63iz6


3. Which of the following pairs of elements

were found anomalous in Mendeleev's

periodic table and why ? 

Ar and K 

Fe and Co 

Co and Ni 

Watch Video Solution

4. Which of the following pairs of elements

were found anomalous in Mendeleev's

https://dl.doubtnut.com/l/_Hh7kEJO63iz6
https://dl.doubtnut.com/l/_Uemgc9WP0d0X
https://dl.doubtnut.com/l/_uLtxMyc3ML4l


periodic table and why ? 

Ar and K 

Fe and Co 

Co and Ni

Watch Video Solution

5. Why was the basis of classification of

elements changed from atomic mass to atomk

number ?

Watch Video Solution

https://dl.doubtnut.com/l/_uLtxMyc3ML4l
https://dl.doubtnut.com/l/_I0Qhr1U2yXML
https://dl.doubtnut.com/l/_azsrpRGH3BvF


6. In what manner is the long form of periodic

table better than Mendeleef's periodic table?

Explain with examples.

Watch Video Solution

7. Write the electronic configuration of the

following elements and predict the block,

period and group to which each element

belongs. 

A (Z = 17)

Watch Video Solution

https://dl.doubtnut.com/l/_azsrpRGH3BvF
https://dl.doubtnut.com/l/_keS4RR5n6MmU


8. Write the electronic configuration of the

following elements and predict the block,

period and group to which each element

belongs. 

D (Z = 26)

Watch Video Solution

9. Write the electronic configuration of the

following elements and predict the block,

https://dl.doubtnut.com/l/_keS4RR5n6MmU
https://dl.doubtnut.com/l/_9qKrhsNPaoM4
https://dl.doubtnut.com/l/_24yPLDvQz6Lb


period and group to which each element

belongs. 

E (Z = 47)

Watch Video Solution

10. Write the electronic configuration of the

following elements and predict the block,

period and group to which each element

belongs. 

G (Z = 55)

Watch Video Solution

https://dl.doubtnut.com/l/_24yPLDvQz6Lb
https://dl.doubtnut.com/l/_0YCYAwPqTXaG


11. Write the electronic configuration of the

following elements and predict the block,

period and group to which each element

belongs. 

J (Z = 82)

Watch Video Solution

12. Classify the following elements into the

types and the blocks to which they belong in

the periodic table. Na, Kr, Cl, Hg, Ce, Ra, Zn

https://dl.doubtnut.com/l/_0YCYAwPqTXaG
https://dl.doubtnut.com/l/_iupoJkCOkG9R
https://dl.doubtnut.com/l/_OAgVNwxcOxMe


Watch Video Solution

13. Which of the following radii of an atom is

the smallest and why? 

Covalent radius, crystal radius, van der Waals'

radius

Watch Video Solution

14. Which of the following pairs are

isoelectronic ? 

https://dl.doubtnut.com/l/_OAgVNwxcOxMe
https://dl.doubtnut.com/l/_ygqUb2bwhflf
https://dl.doubtnut.com/l/_G6I9oh53H1av


Na, Mg

Watch Video Solution

15. Which of the following pairs are

isoelectronic ? 

Watch Video Solution

F − , O2 −

16. Which of the following pairs are

isoelectronic ? 

https://dl.doubtnut.com/l/_G6I9oh53H1av
https://dl.doubtnut.com/l/_3ilALb5Q0fFk
https://dl.doubtnut.com/l/_2atx71haWOQL


Watch Video Solution

K + , Sc3 +

17. The ionisation energy of H is 1312 kJ .

How much energy is required to ionise 100

gram atoms of hydrogen?

Watch Video Solution

mol− 1

18. It requires J energy to ionise a

certain amount of helium gas. If ionisation

2.378 × 107

https://dl.doubtnut.com/l/_2atx71haWOQL
https://dl.doubtnut.com/l/_JCLwZK4bBXvU
https://dl.doubtnut.com/l/_qeB8HigirJfH


energy of helium is 2378.0 kJ/mol, calculate the

amount of helium gas ionised.

Watch Video Solution

19. Which element in each of the following

pairs would you expect to have higher first

ionisation energy and why? 

H ,He

Watch Video Solution

https://dl.doubtnut.com/l/_qeB8HigirJfH
https://dl.doubtnut.com/l/_K3tfAlzfPFLX


20. Which element in each of the following

pairs would you expect to have higher first

ionisation energy and why? 

F ,Cl

Watch Video Solution

21. Which element in each of the following

pairs would you expect to have higher first

ionisation energy and why? 

N, O

https://dl.doubtnut.com/l/_r2nBdQhq36fN
https://dl.doubtnut.com/l/_uXJ2BDIRVnY4


Watch Video Solution

22. A, B, C and D are four elements with atomic

numbers Z - 1, Z, Z + 1 and Z + 2 respectively. B

is a noble gas. Predict 

which element possesses highest first

ionisation energy.

Watch Video Solution

23. A, B, C and D are four elements with atomic

numbers Z - 1, Z, Z + 1 and Z + 2 respectively. B

https://dl.doubtnut.com/l/_uXJ2BDIRVnY4
https://dl.doubtnut.com/l/_20XIUWWlfmSN
https://dl.doubtnut.com/l/_zzrNP2JM2lKo


is a noble gas. Predict 

which element exists +2 oxidation state.

Watch Video Solution

24. A, B, C and D are four elements with atomic

numbers Z - 1, Z, Z + 1 and Z + 2 respectively. B

is a noble gas. Predict 

whose carbonate is more stable towards heat.

Watch Video Solution

https://dl.doubtnut.com/l/_zzrNP2JM2lKo
https://dl.doubtnut.com/l/_5PBf2fqHVL9M


25. A, B, C and D are four elements with atomic

numbers Z - 1, Z, Z + 1 and Z + 2 respectively. B

is a noble gas. Predict 

whose hydroxide is less soluble in water.

Watch Video Solution

26. A, B, C and D are four elements with atomic

numbers Z - 1, Z, Z + 1 and Z + 2 respectively. B

is a noble gas. Predict 

which element exists +1 oxidation state.

https://dl.doubtnut.com/l/_xbKNtSE3UL0g
https://dl.doubtnut.com/l/_yy8XGCJqlFdq


Watch Video Solution

27. Calculate the net energy released or

absorbed in converting 1 gram.of oxygen

atoms into  ions.

Watch Video Solution

O2 −

28. Arrange LiOH, NaOH, KOH, RbOH and CSOH

in the increasing order of basic strength and

give an adequate explanation for the same.

Watch Video Solution

https://dl.doubtnut.com/l/_yy8XGCJqlFdq
https://dl.doubtnut.com/l/_Iah6Ji6jHen5
https://dl.doubtnut.com/l/_75YU5eog4Cfm


Very Short Answer Type Questions

29. Which hydroxide in each of the following

pairs would you expect to be more basic ? 

Watch Video Solution

Be(OH)2, Mg(OH)2

1. On what basis did Mendeleev classify the

elements ?

https://dl.doubtnut.com/l/_75YU5eog4Cfm
https://dl.doubtnut.com/l/_pzr5kYsgiSKK
https://dl.doubtnut.com/l/_4vPaQKgbSHo1


Watch Video Solution

2. How many periods and groups were present

in Mendeleev's original periodic table?

Watch Video Solution

3. What are the modern names given to

ekasilicon and ekaaluminium predicted by

Mendeleev ?

Watch Video Solution

https://dl.doubtnut.com/l/_4vPaQKgbSHo1
https://dl.doubtnut.com/l/_pDeDgEfGyYOY
https://dl.doubtnut.com/l/_u4aIiIzQqKLq


4. Name two anomalous pairs of elements

present in Mendeleev's periodic table.

Watch Video Solution

5. Which is the most fundamental property of

an atom

Watch Video Solution

https://dl.doubtnut.com/l/_u4aIiIzQqKLq
https://dl.doubtnut.com/l/_4SfqgqIaT6Qj
https://dl.doubtnut.com/l/_IVaJ7CiDSgQK


6. How many groups are present in the long

form of the periodic table?

Watch Video Solution

7. Which periods are short and which are long

in the periodic table and how many elements

do they contain?

Watch Video Solution

https://dl.doubtnut.com/l/_95m9xJBlCKXV
https://dl.doubtnut.com/l/_VTAZQNvD5bjQ


8. Name the orbitals which get filled in moving

from left to right in fourth period

Watch Video Solution

9. what is the general electronic configuration

of the elements off-block?

Watch Video Solution

https://dl.doubtnut.com/l/_3M45Xkal7C3s
https://dl.doubtnut.com/l/_nSVZWWXcyGvF


10. Which groups constitute the d- block in the

periodic table ?

Watch Video Solution

11. Define atomic radius of an atom.

Watch Video Solution

12. Why is van der Waals' radius of an atom

greater than its covalent radius

https://dl.doubtnut.com/l/_ys2G6C7vyHOr
https://dl.doubtnut.com/l/_eNojeBFj0aoj
https://dl.doubtnut.com/l/_wE5VmQZ0dhoz


Watch Video Solution

13. State the following: 

How do the atomic radii change in a period

with increasing atomic number?

Watch Video Solution

14. Give reasons why? 

The size of cation is smaller than the size of

parent atom.

https://dl.doubtnut.com/l/_wE5VmQZ0dhoz
https://dl.doubtnut.com/l/_HHthG3x2tD4U
https://dl.doubtnut.com/l/_kIPQmc6TP3QU


Watch Video Solution

15. Give the formula of one species positively

charged and one negatively charged that will

be isoelectronic with He.

Watch Video Solution

16. Among  of an element, which

is the largest ? Arrange them in the increasing

order

Watch Video Solution

IE1, IE2, IE3

https://dl.doubtnut.com/l/_kIPQmc6TP3QU
https://dl.doubtnut.com/l/_0AK8ComSmoww
https://dl.doubtnut.com/l/_BOqhZvrDSUcV


17. Among s, p, d and f subshells of the same

shell, which has the highest ionisation energy

?

Watch Video Solution

18. How does ionisation energy vary in a group

in the periodic table?

Watch Video Solution

https://dl.doubtnut.com/l/_BOqhZvrDSUcV
https://dl.doubtnut.com/l/_N937LeetVHul
https://dl.doubtnut.com/l/_tWEj11lX8UFJ
https://dl.doubtnut.com/l/_UeIV0JaVLqac


19. Give one word or a phrase for the following

statement: 

The energy released when an electron is

added to a neutral gaseous isolated atom to

form a negatively charged ion.

Watch Video Solution

20. Name the elements which possess most

negative values of electron gain enthalpy in

their periods.

Watch Video Solution

https://dl.doubtnut.com/l/_UeIV0JaVLqac
https://dl.doubtnut.com/l/_sPiogmsnrlRy


21. Why does LiCI have a lower M.P. than NaCl ?

Watch Video Solution

22. Which is more basic : LiOH or NaOH ?

Watch Video Solution

23. Which is more stable :  or 

?

Na2CO3 CaCO3

https://dl.doubtnut.com/l/_sPiogmsnrlRy
https://dl.doubtnut.com/l/_Yie6uZoai3j5
https://dl.doubtnut.com/l/_sho2mN9a61xx
https://dl.doubtnut.com/l/_wdtBAoa8NDJO


Watch Video Solution

24. Which of the following are not

representative elements ? 

Li, K, Al, Cu, Ne, Fe, S, Ce, Th

Watch Video Solution

25. Which is more soluble in water :  or

?

Watch Video Solution

CaSO4

SrSO4

https://dl.doubtnut.com/l/_wdtBAoa8NDJO
https://dl.doubtnut.com/l/_L1gHG6qScuPN
https://dl.doubtnut.com/l/_lVPXyhOLddWU


Short Answer Type Questions

1. State Mendeleev.s periodic law.

Watch Video Solution

2. State modern periodic law of classification

of elements.

Watch Video Solution

https://dl.doubtnut.com/l/_lVPXyhOLddWU
https://dl.doubtnut.com/l/_pF4nAe7jY1bW
https://dl.doubtnut.com/l/_N3zGSGu7Mz1Z
https://dl.doubtnut.com/l/_EHPdhKuY7srT


3. Mention the group, period and block to

which each of the following elements belongs

in the long form of periodic table 

X (Z = 9)

Watch Video Solution

4. Mention the group, period and block to

which each of the following elements belongs

in the long form of periodic table 

Y (Z = 28)

Watch Video Solution

https://dl.doubtnut.com/l/_EHPdhKuY7srT
https://dl.doubtnut.com/l/_n7UdaNgVvFGO


5. Mention the group, period and block to

which each of the following elements belongs

in the long form of periodic table 

E (Z = 40)

Watch Video Solution

6. An element possesses electronic

configuration 

https://dl.doubtnut.com/l/_n7UdaNgVvFGO
https://dl.doubtnut.com/l/_K9DY22CMHh9S
https://dl.doubtnut.com/l/_ukLqxIvzTj3w


. Place this

element in the long form of the periodic table.

Watch Video Solution

1s22s22p63s23p63d104s24p64d15s2

7. Writer four characteristic properties of p-

block elements.

Watch Video Solution

8. What are transition elements ? Mention

their characteristic properties.

https://dl.doubtnut.com/l/_ukLqxIvzTj3w
https://dl.doubtnut.com/l/_uVyofhbyMv84
https://dl.doubtnut.com/l/_NJ6QFy4s1fxE


Watch Video Solution

9. Explain the term 

periodicity in properties of elements

Watch Video Solution

10. Explain why : 

Crystal radius is larger than covalent radius.

Watch Video Solution

https://dl.doubtnut.com/l/_NJ6QFy4s1fxE
https://dl.doubtnut.com/l/_xRq2Bknz51ST
https://dl.doubtnut.com/l/_BLxsz6N3FqDZ
https://dl.doubtnut.com/l/_4wH9dW7EerpF


11. Give reason 

Atomic size decreases across a period but

increases down a group of the periodic table

Watch Video Solution

12. Arrange with explanation the following

ions in the increasing order of their sizes. 

Watch Video Solution

Cl− , N 3 − , O2 − , S2 − , Al3 +

https://dl.doubtnut.com/l/_4wH9dW7EerpF
https://dl.doubtnut.com/l/_7ercrqpJXp1E
https://dl.doubtnut.com/l/_fOWuTkpBo0Oo


13. Arrange the following ions in the

decreasing order of their sizes and explain. 

Watch Video Solution

Li+ , K + , Mg2 + , Al3 +

14. Define ionisation energy . What is its value

for a hydrogen atom ?

Watch Video Solution

15. Why is anion larger than its parent atom ?

https://dl.doubtnut.com/l/_fOWuTkpBo0Oo
https://dl.doubtnut.com/l/_hYzsHPFxUw1c
https://dl.doubtnut.com/l/_LjJHyKHshNyU


Watch Video Solution

16. Define valency. How does it change across a

period and on going down a group?

Watch Video Solution

17. Why is the second ionisation energy of an

element much greater than its first ionisation

energy ?

Watch Video Solution

https://dl.doubtnut.com/l/_LjJHyKHshNyU
https://dl.doubtnut.com/l/_OYNlXhRRdBdj
https://dl.doubtnut.com/l/_XkK0sSQcajEM


18. Explain what do you understand by

screening effect. How does this effect

influence the values of ionisation energies ?

Watch Video Solution

19. Arrange with explanation the following

elements in the increasing order of their

ionisation energies : 

Li, Be, B, Na, Mg

Watch Video Solution

https://dl.doubtnut.com/l/_XkK0sSQcajEM
https://dl.doubtnut.com/l/_wplEv3XIucoE
https://dl.doubtnut.com/l/_vKZYbvaheuAF


20. Why do the alkali metals possess minimum

and the noble gases maximum ionisation

energies in respective periods ?

Watch Video Solution

21. Why is the ionisation energy of beryllium

greater than that of Li and B?

Watch Video Solution

https://dl.doubtnut.com/l/_vKZYbvaheuAF
https://dl.doubtnut.com/l/_wnowK9B0TVXW
https://dl.doubtnut.com/l/_Vo63IafH1dN4
https://dl.doubtnut.com/l/_hnmGa8ZeN4EO


22. Why does the ionisation energy decrease

on going down a group?

Watch Video Solution

23. Among the elements of second period pick

out the element 

with the most negative electron gain enthalpy

Watch Video Solution

https://dl.doubtnut.com/l/_hnmGa8ZeN4EO
https://dl.doubtnut.com/l/_Eb7gtwnNXyIq


24. Among the elements of second period pick

out the element 

with the most negative electron gain enthalpy

Watch Video Solution

25. Among the elements of second period pick

out the element 

with the largest atomic radius.

Watch Video Solution

https://dl.doubtnut.com/l/_KnyledDkSNp7
https://dl.doubtnut.com/l/_BCUJBsDiA6Mg
https://dl.doubtnut.com/l/_jZSTAw98EKJb


26. Among the elements of second period pick

out the element 

that is the most reactive non- metal.

Watch Video Solution

27. Among the elements of second period pick

out the element 

that is the most reactive metal.

Watch Video Solution

https://dl.doubtnut.com/l/_jZSTAw98EKJb
https://dl.doubtnut.com/l/_GFjfRKvje1bn
https://dl.doubtnut.com/l/_saFjvqRw29qK


28. Why does the fourth period have eighteen

and not eight elements?

Watch Video Solution

29. The valency of a representative element is

either equal to the number of valence

electrons or eight minus the number. What is

the basis of this rule ?

Watch Video Solution

https://dl.doubtnut.com/l/_saFjvqRw29qK
https://dl.doubtnut.com/l/_Nm5Oh16cWp6H


30. Why do noble gases have positive electron

gain enthalpies?

Watch Video Solution

31. Two elements X and Y possess the

following electronic configuration ? 

 


 


Which out of these two elements does

X : 1s22s22p5

Y = 1s22s22p63s23p5

https://dl.doubtnut.com/l/_C55qW7ONbsah
https://dl.doubtnut.com/l/_KJ3gX4rlTzHP


possess a most negative electron gain

enthalpy and why?

Watch Video Solution

32. Why do the melting points decrease in

going from NaF to Nal?

Watch Video Solution

33.  decomposes on heating but the

carbonates of other alkali metals do not

Li2CO3

https://dl.doubtnut.com/l/_KJ3gX4rlTzHP
https://dl.doubtnut.com/l/_yNK6pow5MnoG
https://dl.doubtnut.com/l/_JclPRCmkgaSE


Essay Long Answer Type Questions

decompose easily on heating. Why ?

Watch Video Solution

1. Give a brief account of the historical

developments in the classification of elements.

Watch Video Solution

https://dl.doubtnut.com/l/_JclPRCmkgaSE
https://dl.doubtnut.com/l/_xxYR2b0nc5rW


2. State the law on the basis of which

Mendeleev classified the elements. Mention

the important features of his periodic table.

What are the merits and defects of

Mendeleev's periodic table ?

Watch Video Solution

3. Compare the known properties of

germanium with those predicted by

Mendeleev for ekasilicon.

https://dl.doubtnut.com/l/_nmFaFnIb3Sda
https://dl.doubtnut.com/l/_Fuu13j82E6rw


Watch Video Solution

4. What is modern periodic law? Mention the

important features of the long form of the

periodic table. Why is this periodic table

supposed to be superior to other periodic

tables ?

Watch Video Solution

5. Justify the position of hydrogen in the

periodic table on the basis of its electronic

https://dl.doubtnut.com/l/_Fuu13j82E6rw
https://dl.doubtnut.com/l/_4QowNuQiCqhe
https://dl.doubtnut.com/l/_hgt6Jbmh5eFz


configuration.

Watch Video Solution

6. What is the basis of splitting the long form

of the periodic table into s, p, d and f blocks ?

Mention the characteristic properties of the

elements of each block.

Watch Video Solution

https://dl.doubtnut.com/l/_hgt6Jbmh5eFz
https://dl.doubtnut.com/l/_enSiGwnhrvGA


7. How can the elements be classified on the

basis of their electronic configuration ?

Mention the characteristic properties of each

type of elements.

Watch Video Solution

8. What do you understand by the term

periodicity ? What is the main cause of

periodicity ? How do the following properties

https://dl.doubtnut.com/l/_sKPYbuWWxMzk
https://dl.doubtnut.com/l/_YC6pa2OP2oAr


vary in periodic table ? 

Atomic size

Watch Video Solution

9. What do you understand by the term

periodicity ? What is the main cause of

periodicity ? How do the following properties

vary in periodic table ? 

Valency

Watch Video Solution

https://dl.doubtnut.com/l/_YC6pa2OP2oAr
https://dl.doubtnut.com/l/_qyryf8Uo8B6E
https://dl.doubtnut.com/l/_YaUHv233eD71


10. What do you understand by the term

periodicity ? What is the main cause of

periodicity ? How do the following properties

vary in periodic table ? 

Ionisation energy

Watch Video Solution

11. What do you understand by the term

periodicity ? What is the main cause of

periodicity ? How do the following properties

https://dl.doubtnut.com/l/_YaUHv233eD71
https://dl.doubtnut.com/l/_BhkECEx9zNzq


vary in periodic table ? 

Electron affinity

Watch Video Solution

12. Define various types of atomic radii. Why is

covalent radius smaller than metallic and van

der Waals' radii ? How do atomic radii vary in a

group and in a period.

Watch Video Solution

https://dl.doubtnut.com/l/_BhkECEx9zNzq
https://dl.doubtnut.com/l/_xI2hFCsjTPii


13. What do you understand by first, second

and third ionisation energies of an element ?

Discuss the factors on which ionisation energy

of an element depends

Watch Video Solution

14. Define electron gain enthalpy. Explain why

electron gain enthalpies of some elements are

positive. How does electron gain enthalpy vary

in a group and in a period ?

https://dl.doubtnut.com/l/_tJWVxBbIiemz
https://dl.doubtnut.com/l/_DRCzLxjDrpmC


Watch Video Solution

15. Electron gain enthalpies of noble gases are

negative.

Watch Video Solution

16. Explain why : 

The electron affinities of Be and Mg are zero.

Watch Video Solution

https://dl.doubtnut.com/l/_DRCzLxjDrpmC
https://dl.doubtnut.com/l/_Vo5RCmZEH8AX
https://dl.doubtnut.com/l/_eIAKKlqrXq7y
https://dl.doubtnut.com/l/_8Qxz7VesKxSx


17. Which is more basic : LiOH or NaOH ?

Watch Video Solution

18. Explain why : 

The second ionisation energy of Li is very high.

Watch Video Solution

19. Write short notes on the following : 

Penetration effect

Watch Video Solution

https://dl.doubtnut.com/l/_8Qxz7VesKxSx
https://dl.doubtnut.com/l/_wQ7855tX1fJn
https://dl.doubtnut.com/l/_Ocl1AfJha4A9


20. Write short notes on the following : 

lsoelectronic ions

Watch Video Solution

21. Write short notes on the following : 

Periodic trends in melting and boiling points.

Watch Video Solution

https://dl.doubtnut.com/l/_Ocl1AfJha4A9
https://dl.doubtnut.com/l/_zU39sQEUtTXr
https://dl.doubtnut.com/l/_AAqzDctnHJsU


22. The electronic configuration of some

elements are given below: 

(i)  (ii)  


(iii)  


(iv)  


Which is a halogen ?

Watch Video Solution

1s22s2 1s22s22p6

1s22s22p63s23p5

1s22s22p1

23. The electronic configuration of some

elements are given below: 

https://dl.doubtnut.com/l/_OcdnSXjh8Vef
https://dl.doubtnut.com/l/_5f7alXB6Qp7C


(i)  (ii)  


(iii)  


(iv)  


Which is a halogen ?

Watch Video Solution

1s22s2 1s22s22p6

1s22s22p63s23p5

1s22s22p1

24. The electronic configuration of some

elements are given below: 

(i)  (ii)  


(iii)  


1s22s2 1s22s22p6

1s22s22p63s23p5

https://dl.doubtnut.com/l/_5f7alXB6Qp7C
https://dl.doubtnut.com/l/_gpximjtrnYcc


(iv)  


Which does belong to s-block ?

Watch Video Solution

1s22s22p1

25. The electronic configuration of some

elements are given below: 

(i)  (ii)  


(iii)  


(iv)  


Which does have the highest IE ?

Watch Video Solution

1s22s2 1s22s22p6

1s22s22p63s23p5

1s22s22p1

https://dl.doubtnut.com/l/_gpximjtrnYcc
https://dl.doubtnut.com/l/_bt0WGIgKnZg4


26. The electronic configuration of some

elements are given below: 

(i)  (ii)  


(iii)  


(iv)  


Which does have the highest IE ?

Watch Video Solution

1s22s2 1s22s22p6

1s22s22p63s23p5

1s22s22p1

27. The electronic configuration of some

elements are given below: 

https://dl.doubtnut.com/l/_bt0WGIgKnZg4
https://dl.doubtnut.com/l/_6EuiDmf8qeoC
https://dl.doubtnut.com/l/_lsBMKiMSUity


Objective Multiple Choice Type Questions

(i)  (ii)  


(iii)  


(iv)  


Which does have valency three ?

Watch Video Solution

1s22s2 1s22s22p6

1s22s22p63s23p5

1s22s22p1

1. The first attempt to classify elements was

made by

https://dl.doubtnut.com/l/_lsBMKiMSUity
https://dl.doubtnut.com/l/_avOg2jfDIT3n


A. Mendeleev

B. Newlands

C. Lothar Meyer

D. Dobereiner.

Answer: A

Watch Video Solution

2. The most important active step in the

development of periodic table was taken by 

Mendeleev


https://dl.doubtnut.com/l/_avOg2jfDIT3n
https://dl.doubtnut.com/l/_BtAazt9OrGiW


Dalton 

Avogadro


Cavendish.

A. Mendeleev

B. Dalton

C. Avogadro

D. Cavendish.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_BtAazt9OrGiW
https://dl.doubtnut.com/l/_WYZuvieDe6Te


3. In the modern periodic table, elements are

classified according to their________. (atomic

masses/atomic number)

A. increasing mass

B. increasing volume

C. increasing atomic number

D. alphabetically.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_WYZuvieDe6Te
https://dl.doubtnut.com/l/_NvLgZ7clpToc


4. The statement that is false for the long

form of the periodic table is :


1. it reflects the sequence of filling of electrons

in the order of sub energy levels s, p, d, f 

2. it helps to predict the stable valency states

of the elements 

3. it reflects trends in physical and chemical

properties of the elements 

4. it helps to predict the relative ionocity of

the bond between any two elements.

https://dl.doubtnut.com/l/_NvLgZ7clpToc


A. it reflects the sequence of filling of

electrons in the order of sub energy

levels s, p, d, f

B. it helps to predict the stable valency

states of the elements (

C. it reflects trends in physical and

chemical properties of the elements

D. it helps to predict the relative ionocity of

the bond between any two elements.

Answer: B

https://dl.doubtnut.com/l/_NvLgZ7clpToc


Watch Video Solution

5. The tenth element in the periodic table

resembles with the

A. first

B. second

C. fourt

D. ninth

Answer: B

https://dl.doubtnut.com/l/_NvLgZ7clpToc
https://dl.doubtnut.com/l/_EVQj5IkCDDjW


Watch Video Solution

6. In the periodic table, going down in fluorine

group

A. reactivity will increase

B. electronegativity will increase

C. ionic radius will increase

D. ionisation potential will increase

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_EVQj5IkCDDjW
https://dl.doubtnut.com/l/_1l221HLefSXI


7. Which of the following sets belong to the

same period ? 

Li, Na, K 

Li, Mg, Ca 

Cu, Ni, Zn 

F, Cl, Br.

A. Li, Na, K

B. Li, Mg, Ca

C. Cu, Ni, Zn

D. F, Cl, Br.

https://dl.doubtnut.com/l/_1l221HLefSXI
https://dl.doubtnut.com/l/_ZclFhmv1cJJO


Answer: C

Watch Video Solution

8. Which of the following transitions involves

maximum amount of energy?

A. 

B. 

C. 

D. 

M − (g) → M(g)

M(g) → M + (g)

M + (g) → M 2 + (g)

M 2 + (g) → M 3 + (g)

https://dl.doubtnut.com/l/_ZclFhmv1cJJO
https://dl.doubtnut.com/l/_WWrOXQgAOhPo


Answer: D

Watch Video Solution

9. With reference to concept of ionisation

potential, which one of the following sets is

correct ?

A. 

B. 

C. 

D. 

U > K > Cs

B > U > K

Cs > U > B

Cs < U < K

https://dl.doubtnut.com/l/_WWrOXQgAOhPo
https://dl.doubtnut.com/l/_5ugZ3gY63kqc


Answer: B

Watch Video Solution

10. A sudden large jump between the value of

second and third ionization energies of an

el,ement would be associated with which of

the following electronic configuration?

A. 

B. 

C. 

1s22s22p63s1

1s22s22p63s23p1

1s22s22p63s23p2

https://dl.doubtnut.com/l/_5ugZ3gY63kqc
https://dl.doubtnut.com/l/_SasMmXGxf9PZ


D. 

Answer: D

Watch Video Solution

1s22s22p63s2

11. Atomic radii of fluorine and neon in

Angstrom units are respectively given by

A. 0.762, 1.60

B. 1.60, 1.60

C. 0. 72, 0. 72

https://dl.doubtnut.com/l/_SasMmXGxf9PZ
https://dl.doubtnut.com/l/_zOWYdSRJvZKE


D. None of these values.

Answer: A

Watch Video Solution

12. Which of the following is the largest?

A. 

B. 

C. 

D. 

Cl−

S2 −

Na+

F −

https://dl.doubtnut.com/l/_zOWYdSRJvZKE
https://dl.doubtnut.com/l/_J1bUg0EgqVmJ


Answer: B

Watch Video Solution

13. If the valence shell electronic structure for

an element is  , this element will belong

to the group of

A. alkali metals

B. inert metals

C. noble gases

D. halogens.

ns2np5

https://dl.doubtnut.com/l/_J1bUg0EgqVmJ
https://dl.doubtnut.com/l/_yeGX7BURbMFP


Answer: D

Watch Video Solution

14. The element californium belongs to a

family of

A. actinide series

B. alkali metals

C. alkaline earth metals

D. lanthanide series

https://dl.doubtnut.com/l/_yeGX7BURbMFP
https://dl.doubtnut.com/l/_D3yJNT1MdsYA


Answer: A

Watch Video Solution

15. The general electronic configuration of d-

block elements is

A. 

B. 

C. 

D. 

(n − 1)s2d1 − 10

(n − 1)d1 − 10ns2

(n − 1)d1 − 10ns2p4

(n − 1)p4ns2

https://dl.doubtnut.com/l/_D3yJNT1MdsYA
https://dl.doubtnut.com/l/_yDlcXEEKV7XC


Answer: B

Watch Video Solution

16. Which one of the following is the smallest

in size?

A. 

B. 

C. 

D. 

N 3 −

O2 −

F −

Na+

https://dl.doubtnut.com/l/_yDlcXEEKV7XC
https://dl.doubtnut.com/l/_ipyr4UEOVQAa


Answer: D

Watch Video Solution

17. Correct order of radius of elements is: C, O,

F, Cl, Br

A. F, O, C, Cl, Br

B. F, C, O, Cl, Br

C. F, Cl, Br, O, C

D. C, O, F, Cl, Br.

https://dl.doubtnut.com/l/_ipyr4UEOVQAa
https://dl.doubtnut.com/l/_nrUET66Djm9Q


Answer: A

Watch Video Solution

18. Which has the highest second ionisation

potential ?

A. Nitrogen

B. Carbon

C. Oxygen

D. Fluorine

https://dl.doubtnut.com/l/_nrUET66Djm9Q
https://dl.doubtnut.com/l/_VKCnvAj9jVIK


Answer: C

Watch Video Solution

19. If the ionisation potential for hydrogen

atom is 13.6 eV, then the ionisation potential

for  ion should be

A. 27.2 eV

B. 54.4 eV

C. 6.8 eV

D. 13.6 eV.

He+

https://dl.doubtnut.com/l/_VKCnvAj9jVIK
https://dl.doubtnut.com/l/_ajaNpLvixjLa


Answer: B

Watch Video Solution

20. The correct order of second ionisation

potentials of carbon, nitrogen, oxygen and

fluroine is

A. 

B. 

C. 

D. 

C > N > O > F

O > N > F > C

O > F > N > C

F > O > N > C

https://dl.doubtnut.com/l/_ajaNpLvixjLa
https://dl.doubtnut.com/l/_kmcoC5KyLpZn


Answer: C

Watch Video Solution

21. The element with configuration

 would be

A. a metal

B. a non-metal

C. an inert gas

D. a metalloid

1s22s22p63s2

https://dl.doubtnut.com/l/_kmcoC5KyLpZn
https://dl.doubtnut.com/l/_xCUC816LJ4zl


Answer: A

Watch Video Solution

22. Define the following terms: 

Electron affinity .

A. energy released when an electron is

added to an isolated atom in the

gaseous state

https://dl.doubtnut.com/l/_xCUC816LJ4zl
https://dl.doubtnut.com/l/_F2ifo8SIcsLI


B. energy absorbed when an electron is

added to an isolated atom in the

gaseous state

C. energy required to take out an electron

from an isolated gaseous atom

D. power of an atom to attract an electron

to itself.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_F2ifo8SIcsLI
https://dl.doubtnut.com/l/_Fl34Btw9D4HG


23. The process requiring the absorption of

energy is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F → F −

Cl < Cl−

O → O2 −

H → H −

https://dl.doubtnut.com/l/_Fl34Btw9D4HG
https://dl.doubtnut.com/l/_bmDqBbSs8M47


24. Which of the following sets has the

strongest tendency to form anions ? 

V, Cr, Mn 

Ga, In, Tl 

Na, Mg, Al 

N, O, F.

A. V, Cr, Mn

B. Ga, In, Tl

C. Na, Mg, Al

D. N, O, F.

Answer: D

https://dl.doubtnut.com/l/_bmDqBbSs8M47


Watch Video Solution

25. Assign reasons for each of the following 

(i) Trasitiono elements exhibit variable

oxidation sates. 

(ii) Transition metal ions are usually coloured.

A. metalloids

B. transition elements

C. non-metals

D. gases.

https://dl.doubtnut.com/l/_bmDqBbSs8M47
https://dl.doubtnut.com/l/_2KuiMbqfnWIC


Answer: B

Watch Video Solution

26. The electronic configuration of an element

is . What is the atomic

number of the element which is just below the

above element in the periodic table ? 

49


31


34


33

1s22s22p63s23p3

https://dl.doubtnut.com/l/_2KuiMbqfnWIC
https://dl.doubtnut.com/l/_tozrlUzWaiDU


A. 49

B. 31

C. 34

D. 33

Answer: D

Watch Video Solution

27. Elements upto atomic number 105 have

been discovered till now. If an element with

atomic number 106 were ever discovered,

https://dl.doubtnut.com/l/_tozrlUzWaiDU
https://dl.doubtnut.com/l/_hfZbXgDxgPuM


which of the following electronic configuration

will it possess? 













A. 

B. 

C. 

D. 

Answer: B

[Rn]5t146d47s2

[Rn]5f 146d57s1

[Rn]5f 146d67s0

[Rn]5f 146d17s27p3

[Rn]5t146d47s2

[Rn]5f 146d57s1

[Rn]5f 146d67s0

[Rn]5f 146d17s27p3

https://dl.doubtnut.com/l/_hfZbXgDxgPuM


Watch Video Solution

28. Which is the weakest base among

 and ?

A. NaOH

B. KOH

C. 

D. 

Answer: D

NaOH, Ca(OH)2, KOH Zn(OH)2

Ca(OH)2

Zn(OH)2

https://dl.doubtnut.com/l/_hfZbXgDxgPuM
https://dl.doubtnut.com/l/_EJZKirvedjmp


Watch Video Solution

29. Which pair of atomic numbers represents

s-block elements ?

A. 7, 15

B. 6, 12

C. 9, 17

D. 3, 12.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_EJZKirvedjmp
https://dl.doubtnut.com/l/_AYqdpcR4ilLV


30. Which pair of elements has the same

characteristic chemical properties ?

A. 13, 31

B. 11, 20

C. 12, 10

D. 21, 33.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_AYqdpcR4ilLV
https://dl.doubtnut.com/l/_PnA2hPChejqS


31. The values of  and 

of an element are 7.1, 14.3, 34.5, 46.8 and 162.2

eV respectively. The element is likely to be

A. Na

B. Si

C. F

D. Ca

Answer: B

Watch Video Solution

IE1, IE2, IE3, IE4 IE5

https://dl.doubtnut.com/l/_F1ZUxbzMBi3j


32. The incorrect statement among the

following is

A. The first ionisation potential of Al is less

than the first ionisation potential of Mg.

B. The second ionisation potential of Mg is

greater than the second ionisation

potential of Na.

C. The first ionisation potential of Na is less

than the first ionisation potential of Mg.

https://dl.doubtnut.com/l/_d6eTtyqMkP0Q


D. The third ionisation potential of Mg is

greater than the third ionisation

potential of Al.

Answer: B

Watch Video Solution

33. Ionic radii of

A. 

B. 

Ti4 + < Mn7 +

35Cl− < 37Cl−

https://dl.doubtnut.com/l/_d6eTtyqMkP0Q
https://dl.doubtnut.com/l/_KRF29wyXVuKr


C. 

D. 

Answer: D

Watch Video Solution

K + > Cl−

P 3 + > P 5 +

34. Correct order of radii

A. 

B. 

C. 

Ne < Be < B

F − < O2 − < N 3 −

Na < Li < K

https://dl.doubtnut.com/l/_KRF29wyXVuKr
https://dl.doubtnut.com/l/_fbz3g0ssz7X6


D. 

Answer: B

Watch Video Solution

Fe3 + < Fe2 + < Fe4+

35. The correct order of first ionisation

potential is

A. 

B. 

C. 

K > Na > Li

Be > Mg > Ca

B > C > N

https://dl.doubtnut.com/l/_fbz3g0ssz7X6
https://dl.doubtnut.com/l/_CBxiwy1ouGpb


D. 

Answer: B

Watch Video Solution

Ge > Si > C

36. Among the following complex ions, the

species whose central metal atom does not

have 'd' electron is :










[MnO4] −

[CO(NH3)6]
3 +

https://dl.doubtnut.com/l/_CBxiwy1ouGpb
https://dl.doubtnut.com/l/_601PNQMshySa






A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Fe(CN)6]
3 −

[Cr(H2O)6]
3 +

[MnO4] −

[CO(NH3)6]
3 +

[Fe(CN)6]
3 −

[Cr(H2O)6]
3 +

https://dl.doubtnut.com/l/_601PNQMshySa


37. According to the periodic law of elements,

the variation in properties of elements is

related to their :


atomic masses 

nuclear masses 

atomic numbers 

nuclear neutron-proton number ratios.

A. atomic masses

B. nuclear masses

C. atomic numbers

https://dl.doubtnut.com/l/_M6dDOK81HzBl


D. nuclear neutron-proton number ratios.

Answer: C

Watch Video Solution

38. The atomic numbers of vanadium (V),

chromium (Cr), manganese (Mn) and iron (Fe)

are respectively 23, 24, 25 and 26. Which one of

these may be expected to have the highest

second ionisation enthalpy ? 

V


https://dl.doubtnut.com/l/_M6dDOK81HzBl
https://dl.doubtnut.com/l/_UrlDIytTATKe


Cr


Mn


Fe

A. V

B. Cr

C. Mn

D. Fe

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_UrlDIytTATKe
https://dl.doubtnut.com/l/_fDCLmxf5NIfu


39. Which one of the following ions has the

highest value of ionic radius?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Li+

B3 +

O2 −

F −

https://dl.doubtnut.com/l/_fDCLmxf5NIfu


40. The formation of the oxide ion  (g)

requires first an exothermic and then an

endothermic step as shown below : 

This is because

A. oxygen is more electronegative

B. oxygen has high electron affinity

C.  ion will tend to resist the addition

of another electron

O2 −

O(g) + e− = O− (g), ΔH ∘ = − 142kJmoI − 1

O(g) + e− → O2 − (g), ΔH ∘ = 844kJmol− 1

O−

https://dl.doubtnut.com/l/_NiUbP0DAVFks


D.  ion has comparatively larger size

than oxygen atom.

Answer: C

Watch Video Solution

O−

41. Fluorine is the best oxidising agent

because it has

A. Electron affinity

B. Ionisation enthalpy

https://dl.doubtnut.com/l/_NiUbP0DAVFks
https://dl.doubtnut.com/l/_5NvP5joPvpap


C. Hydration enthalpy

D. Bond dissociation energy

Answer: C

Watch Video Solution

42. The first ionisation enthalpy of the

elements C,N,P,Si are in the order of

A. F  S  P  B

B. P  S  B  F

< < <

< < <

https://dl.doubtnut.com/l/_5NvP5joPvpap
https://dl.doubtnut.com/l/_9RThWRo4eo0r


C. B  P  S  F

D. B  S  P  F.

Answer: D

Watch Video Solution

< < <

< < <

43. Following statements regarding the

periodic trends of chemical reactivity of the

alkali metals and the halogens are given.

Which of these statements gives the correct

picture: A)In alkali metals the reactivity

https://dl.doubtnut.com/l/_9RThWRo4eo0r
https://dl.doubtnut.com/l/_oqTGha3FOhJr


increases but in the halogens it decreases

with increase in atomic number down the

group
 B)The reactivity decreases in the alkali

metals but increases in the halogens with

increases in atomic number down the group.

C)In both the alkali metals and the halogen

the chemical reactivity decreases with

increases in atomic number down the group

D)Chemical reactivity increases with increases

in atomic number down the group in both the

alkali metals and halogens.

https://dl.doubtnut.com/l/_oqTGha3FOhJr


A. The reactivity decreases in the alkali

metals but increases in the halogens

with increase in atomic number down

the group.

B. In both the alkali metals and the

halogens the chemical reactivity

decreases with increase in atomic

number down the group.

C. Chemical reactivity increases with

increase in atomic number down the

https://dl.doubtnut.com/l/_oqTGha3FOhJr


group in both the alkali metals and

halogens.

D. In alkali metals the reactivity increases

but in the halogens it decreases with

increase in atomic number down the

group.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_oqTGha3FOhJr


44. The increasing order of the ionic radii of

the given isoelectronic species is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cl− , Ca2, K + , S2

S2 − , Cl− , Ca2 + , K +

Ca2 + , K + , Cl− , S2 −

K + , S2 − , Ca2 + , Cl−

https://dl.doubtnut.com/l/_1H6i3tFTKnk5
https://dl.doubtnut.com/l/_b41AGQKzlr5G


45. Correct order of electron gain enthalpy

(Kj/mole) of F, Cl, Br, I

A. I  Br  Cl  F

B. F  Cl  Br  I

C. Cl  F  Br  I

D. Br  Cl  I  F.

Answer: C

Watch Video Solution

> > >

> > >

> > >

> > >

https://dl.doubtnut.com/l/_b41AGQKzlr5G


46. The correct sequence which shows

decreasing order of the ionic radii of the

elements is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Al3 + > Mg2 + > Na+ > F − > O2 −

Na+ > Mg2 + > Al3 + > O2 − > F −

Na+ > F − > Mg2 + > O2 − > Al3 +

O2 − > F − > Na+ > Mg2 + > Al3 +

https://dl.doubtnut.com/l/_GADOjg6nSVvL


47. Correct order of radii

A. gt gt gt

B. gt gt gt

C. gt gt gt

D. 

Answer: C

Watch Video Solution

Ca2 + K + S2 − Cl

Cl− S2 − Ca2 + K +

S2 − Cl− K + Ca2 +

K + > Ca2 + > Cl− > S2 −

https://dl.doubtnut.com/l/_dhMs9u90rP5q


48. Which of the following represents the

correct order of increasing first ionization

enthalpy for Ca, Ba, S, Se and Ar?

A. Ca  S  Ba  Se  Ar

B. S  Se  Ca  Ba  Ar

C. Ba  Ca  Se  S  Ar

D. Ca  Ba  S  Se  Ar.

Answer: C

Watch Video Solution

< < < <

< < < <

< < < <

< < < <

https://dl.doubtnut.com/l/_pbCxmOCgF86S


49. The first ionisation potential of  is 

. The value of electron gain enthalpy of 

 will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Na

5.1eV

Na+

−2.55eV

−5.1eV

−10.2eV

+2.55eV

https://dl.doubtnut.com/l/_02FN7epcbP63


50. Elements upto atomic number 105 have

been discovered till now. If an element with

atomic number 106 were ever discovered,

which of the following electronic configuration

will it possess? 













A. Halogen family 

B. Carbon family, [Rn] 

[Rn]5t146d47s2

[Rn]5f 146d57s1

[Rn]5f 146d67s0

[Rn]5f 146d17s27p3

[Rn]5f 146d107s27p5

5f 146d107s27p2

https://dl.doubtnut.com/l/_5dftLK7duIVd


C. Oxygen family, [Rn] 

D. Nitrogen family, [Rn] 

Answer: B

Watch Video Solution

5f 146d107s27p4

5f 146d107s27p6

51. The correct order of atomic radii in group

13 elements is

A. B  Al  In  Ga  Tl

B. B  Al  Ga  In  Tl

< < < <

< < < <

https://dl.doubtnut.com/l/_5dftLK7duIVd
https://dl.doubtnut.com/l/_BvYK0rIQuREP


C. B  Ga  Al  Tl  In

D. B  Ga  Al  In  Tl

Answer: D

Watch Video Solution

< < < <

< < < <

52. For the second period elements the correct

increasing order of first io0nization enthalpy

is:

https://dl.doubtnut.com/l/_BvYK0rIQuREP
https://dl.doubtnut.com/l/_aFrMRsAPZaVz


A. Li  B  Be  C  N  O  F 

 Ne

B. Li  Be  B  C  O  N  F 

 Ne

C. Li  Be  B  C  N  O  F 

 Ne

D. Li  B  Be  C  O  N  F 

 Ne

Answer: D

Watch Video Solution

< < < < < <

<

< < < < < <

<

< < < < < <

<

< < < < < <

<

https://dl.doubtnut.com/l/_aFrMRsAPZaVz


53. The element which has highest 2nd

ionisation energy is

A. Ca

B. Sc

C. K

D. Ba.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_aFrMRsAPZaVz
https://dl.doubtnut.com/l/_WI1Xvb58uqPS


54. The IUPAC symbol for the element with

atomic number 119 would be:

A. uue

B. une

C. uun

D. unh.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jaHj8ZwLPpCW


True Or False Type Questions

1. Justify the given statement with suitable

examples -"the properties of the elements are

a periodic function of their atomic numbers"?

Watch Video Solution

2. Why do you think the noble gases are

placed in a separate group?

Watch Video Solution

https://dl.doubtnut.com/l/_Ven6a2FyrrEU
https://dl.doubtnut.com/l/_nG7RtC7FinLI


3. All groups were subdivided into A and B sub

groups in Mendeleev's periodic table.

Watch Video Solution

4. Mendeleev's periodic table helped in correct

determination of atomic masses of elements

Watch Video Solution

https://dl.doubtnut.com/l/_2NQkVU9YeU4d
https://dl.doubtnut.com/l/_aBcoKKzMfS25


5. What is modern periodic law? Mention the

important features of the long form of the

periodic table. Why is this periodic table

supposed to be superior to other periodic

tables ?

Watch Video Solution

6. What are transition elements ? How these

differ from representative elements ?

Watch Video Solution

https://dl.doubtnut.com/l/_kQloSQUwI0TM
https://dl.doubtnut.com/l/_hXE6ttVmPHaf


7. Find out the Value ofequilibrium constant

for the following reaction at 298 K, 2 NH3(g) +

CO2 ⇌ NH2CONH2(aq) + H2O(I) Standard

Gibbs energy change, AGr° at the given

temperature is – 13.6 kJ mol-1.

Watch Video Solution

8. In the fifth period 5s, 5p and 5d shells are

filled.

Watch Video Solution

https://dl.doubtnut.com/l/_hXE6ttVmPHaf
https://dl.doubtnut.com/l/_ZWyHfB8n08aa
https://dl.doubtnut.com/l/_Uuri9HfrgRae


9. Isotopes of an element are placed at the

same place in the long form of the periodic

table.

Watch Video Solution

10. The element with Z = 11 is present in the

third period.

Watch Video Solution

https://dl.doubtnut.com/l/_Uuri9HfrgRae
https://dl.doubtnut.com/l/_euHFlySkXi0M
https://dl.doubtnut.com/l/_sweGYRJqVBZj
https://dl.doubtnut.com/l/_NyENZ0Ajlmj1


11. All lanthanides are supposed to be present

in group 3 of the periodic table.

Watch Video Solution

12. Atomic radius of F is greater than that of

Ne.

Watch Video Solution

13.  is smaller than .Al3 + Ca2 +

https://dl.doubtnut.com/l/_NyENZ0Ajlmj1
https://dl.doubtnut.com/l/_UDcjmKAeSB3X
https://dl.doubtnut.com/l/_vgWIRc65gaVa


Watch Video Solution

14. Explain why : 

The second ionisation energy of Li is very high.

Watch Video Solution

15. np electrons are more penetrating than ns

electrons.

Watch Video Solution

https://dl.doubtnut.com/l/_vgWIRc65gaVa
https://dl.doubtnut.com/l/_KlcTHWwfzcrb
https://dl.doubtnut.com/l/_ifi4Sv0ARGA5
https://dl.doubtnut.com/l/_otmttVRpZH2f


16. The electron affinity of nitrogen is zero.

Watch Video Solution

17. The electron affinity increases in going

down a group.

Watch Video Solution

18. Melting and boiling points increase

regularly in going across the second period.

Explain.

https://dl.doubtnut.com/l/_otmttVRpZH2f
https://dl.doubtnut.com/l/_IYw2rrm3flRL
https://dl.doubtnut.com/l/_mN0EJNnB2mSm


Watch Video Solution

19. Melting point of LiCI is less than that of

NaCl.

Watch Video Solution

20. CsOH is more basic than .

Watch Video Solution

Ba(OH)2

https://dl.doubtnut.com/l/_mN0EJNnB2mSm
https://dl.doubtnut.com/l/_rkf7njwBUiU4
https://dl.doubtnut.com/l/_IoiMd5Jftf5T


Fill In The Blanks Type Questions

1. The element ekasilicon predicted by ...... was

discovered by .. .. .. . .. who named it as ............ .

Watch Video Solution

2. .. .......... and not the ......... is the most

fundamental property of an element.

Watch Video Solution

https://dl.doubtnut.com/l/_P9ldjm3qvIGF
https://dl.doubtnut.com/l/_ATUPhxifvkeF
https://dl.doubtnut.com/l/_ro65gvFmsOB4


3. Hydrogen may be placed at the top in group

......... as well as in group ..... .... of the periodic

table.

Watch Video Solution

4. Vertical columns of periodic table are known

as

Watch Video Solution

https://dl.doubtnut.com/l/_ro65gvFmsOB4
https://dl.doubtnut.com/l/_b7jMurH1p6W5


5. The sixth period contains-in all ............

elements among which .. .......... are lanthanides.

Watch Video Solution

6. The elements of p-block possess electronic

configuration of the type ......... .

Watch Video Solution

https://dl.doubtnut.com/l/_JY5qvyDO6Kfp
https://dl.doubtnut.com/l/_GMgkZyPVnq5b


7. What is the basis of the long form of the

periodic table?

Watch Video Solution

8. Most of the transition metal ions are ...............

and........ in nature.

Watch Video Solution

https://dl.doubtnut.com/l/_wVjScl1yfFgZ
https://dl.doubtnut.com/l/_9N47JCcTlnZt


9. Covalent radius is defined as .. ....... of the

distance between the centres of the ....... .. of

two similar atoms bonded

Watch Video Solution

10.  has a smaller ionic radius than 

because it has ................ .

Watch Video Solution

Ca2 + K +

https://dl.doubtnut.com/l/_nJri4r9zy7ws
https://dl.doubtnut.com/l/_Qa2AOunjKPA9


11. The atomic radii ............ on moving down a

group.

Watch Video Solution

12. Anion is ..................... (larger / smaller) than

the parent atom where as cation is ...................

(larger / smaller) than the parent atom.

Watch Video Solution

https://dl.doubtnut.com/l/_s260Pb3xE543
https://dl.doubtnut.com/l/_aG03GtCj0b7z


13. The screening effect of inner electrons on

the nucleus causes

Watch Video Solution

14. Noble gases possess .... .. ...... values of

ionisation energies due to the presence of

............ .

Watch Video Solution

https://dl.doubtnut.com/l/_BhAz1wczdxKB
https://dl.doubtnut.com/l/_2VEFjIE1XumX


15. Give one word or a phrase for the following

statement: 

The energy released when an electron is

added to a neutral gaseous isolated atom to

form a negatively charged ion.

Watch Video Solution

16. Comment on the electron affinities of noble

gases.

Watch Video Solution

https://dl.doubtnut.com/l/_cqTtdTnxE3Fp
https://dl.doubtnut.com/l/_OAn2thrBLs2m


Assertion Reason Tpe Questions

17. Second electron affinity of oxygen is ............ .

Watch Video Solution

18. Why the melting and boiling points of

halogens increase in going from top to

bottom of the group.

Watch Video Solution

https://dl.doubtnut.com/l/_OAn2thrBLs2m
https://dl.doubtnut.com/l/_us59xvwev3kW
https://dl.doubtnut.com/l/_1aaKcYgXbKjq


1. Why is the ionisation energy of beryllium

greater than that of Li and B?

Watch Video Solution

2. Justify the given statement with suitable

examples -"the properties of the elements are

a periodic function of their atomic numbers"?

Watch Video Solution

https://dl.doubtnut.com/l/_GPJ6AimAJkgz
https://dl.doubtnut.com/l/_21nRFQqEYn9v


3. The general electronic configuration of d-

block elements is

Watch Video Solution

4. Assertion : The atomic radii of elements

decrease on moving from left to 

Reason : On moving from left to right in a

period, the ionisation enthalpies right in a

period. increase with increase in atomic

number.

https://dl.doubtnut.com/l/_2SYvkewbQ0PK
https://dl.doubtnut.com/l/_C2KN0ZV3eKjy


Watch Video Solution

5. Ionisation enthalpy of nitrogen is more than

oxygen because of

Watch Video Solution

6. Assertion : The electron gain enthalpy of

chlorine is less negative than that of fluorine. 

Reason : The fluorine atom is much smaller in

size than that of chlorine.

Watch Video Solution

https://dl.doubtnut.com/l/_C2KN0ZV3eKjy
https://dl.doubtnut.com/l/_mkvBg8MFl1yM
https://dl.doubtnut.com/l/_u8N9ypnTzkqY


Ncert Text Book Exercise With Hints And

Solutions

1. What is the basic theme of organisation in

the periodic table?

Watch Video Solution

2. Which important property did Mendeleev

use to classify the elements in his periodic

https://dl.doubtnut.com/l/_u8N9ypnTzkqY
https://dl.doubtnut.com/l/_5cJFLkqKhdx3
https://dl.doubtnut.com/l/_fGO79CohmQa6


table and did he stick to that?

Watch Video Solution

3. What is the basic difference in approach

between the Mendeleev’s Periodic Law and the

Modern Periodic Law?

Watch Video Solution

4. On the basis of quantum numbers, justify

that the sixth period of the periodic table

https://dl.doubtnut.com/l/_fGO79CohmQa6
https://dl.doubtnut.com/l/_uOZV6i4xweR5
https://dl.doubtnut.com/l/_04pXEWyJWrju


should have 32 elements.

Watch Video Solution

5. In terms of period and group where would

you locate the element with Z =114?

Watch Video Solution

6. Atomic number of element present in the

third period and seventeenth group of

periodic table

https://dl.doubtnut.com/l/_04pXEWyJWrju
https://dl.doubtnut.com/l/_qagpELxfPgfx
https://dl.doubtnut.com/l/_HPN1rzgctv8i


Watch Video Solution

7. Which element do you think would have

been named by 

Lawrence Berkley Laboratory ?

Watch Video Solution

8. Which element do you think would have

been named by 

Seaborg's group?

https://dl.doubtnut.com/l/_HPN1rzgctv8i
https://dl.doubtnut.com/l/_ziGP8b7JSfhh
https://dl.doubtnut.com/l/_QJdPvEsxHjTz


Watch Video Solution

9. Why do elements in the same group have

similar physical and chemical properties?

Watch Video Solution

10. What does atomic radius and ionic radius

really mean to you?

Watch Video Solution

https://dl.doubtnut.com/l/_QJdPvEsxHjTz
https://dl.doubtnut.com/l/_tWK2Wn9i3DzY
https://dl.doubtnut.com/l/_m1NwmISr8YGU
https://dl.doubtnut.com/l/_AVpiyQMvylSR


11. How do atomic radii vary in a period and in

a group? How do you explain the variation?

Watch Video Solution

12. What do you understand by isoelectronic

species? Name a species that will be

isoelectronic with each of the following atoms

or ions: 

Watch Video Solution

F −

https://dl.doubtnut.com/l/_AVpiyQMvylSR
https://dl.doubtnut.com/l/_dcJmoiclTKXS
https://dl.doubtnut.com/l/_sveArqxsjqVi


13. What do you understand by isoelectronic

species? Name a species that will be

isoelectronic with each of the following atoms

or ions: 

Watch Video Solution

Ar

14. What do you understand by isoelectronic

species? Name a species that will be

isoelectronic with each of the following atoms

https://dl.doubtnut.com/l/_sveArqxsjqVi
https://dl.doubtnut.com/l/_maVA2kDu0jk7


or ions. 

(i)  (ii) Ar (iii)  (iv) 

Watch Video Solution

F − Mg2 + Rb+

15. What do you understand by isoelectronic

species? Name a species that will be

isoelectronic with each of the following atoms

or ions. 

(i)  (ii) Ar (iii)  (iv) 

Watch Video Solution

F − Mg2 + Rb+

https://dl.doubtnut.com/l/_maVA2kDu0jk7
https://dl.doubtnut.com/l/_ADOwy7MqHwPG
https://dl.doubtnut.com/l/_KdY5FQCxji5e


16. Consider the following species: 

 and  


What is common in them?

Watch Video Solution

N 3 − , O2 − , F − , Na+ , Mg2 + Al3 +

17. What is common between given cations

and anions, ?

Watch Video Solution

O2 −F − , Na+ , Mg2 + , AI 3 +

https://dl.doubtnut.com/l/_KdY5FQCxji5e
https://dl.doubtnut.com/l/_7K2vf4fQd4Mi


18. Explain why cation are smaller and anions

larger in radii than their parent atoms?

Watch Video Solution

19. What is the significance of the terms —

‘isolated gaseous atom’ and ‘ground state’

while defining the ionization enthalpy and

electron gain enthalpy? 

Hint : Requirements for comparison purposes.

Watch Video Solution

https://dl.doubtnut.com/l/_VbcF7VxWxEli
https://dl.doubtnut.com/l/_6xC5EeZnkovg


20. Energy of an electron in the ground state

of the hydrogen atom is .

Calculate the ionization enthalpy of atomic

hydrogen in terms of J . 


Hint: Apply the idea of mole concept to derive

the answer.

Watch Video Solution

−2.18 × 10( − 18)J

mol − 1

21. Among the second period elements the

actual ionization enthalpies are in the order

https://dl.doubtnut.com/l/_6xC5EeZnkovg
https://dl.doubtnut.com/l/_xM2SOULMF5bE
https://dl.doubtnut.com/l/_soEUzsO94kDd


. 


Explain why 

(i) Be has higher ∆i H than B 


(ii) O has lower ∆i H than N and F?

Watch Video Solution

Li < B < Be < C < O < N < F < Ne

22. Among the second period elements the

actual ionization enthalpies are in the order

. 


Explain why 

Li < B < Be < C < O < N < F < Ne

https://dl.doubtnut.com/l/_soEUzsO94kDd
https://dl.doubtnut.com/l/_06oCEJrLFrxF


(i) Be has higher ∆i H than B 


(ii) O has lower ∆i H than N and F?

Watch Video Solution

23. How would you explain the fact that the

first ionsiation enthalpy of sodium is lower

than that of magnesium but its second

ionisation enthalpy is higher than that of

magnesium?

Watch Video Solution

https://dl.doubtnut.com/l/_06oCEJrLFrxF
https://dl.doubtnut.com/l/_7o8WWtV3I0pA
https://dl.doubtnut.com/l/_x1SENgCpVGjc


24. What are the various factors due to which

the ionization enthalpy of the main group

elements tends to decrease down a group?

Watch Video Solution

25. The first ionisation enthalpy values (in kJ

) of group 13 elements are 

 


How would you explain this deviation from the

general , trend?

mol− 1

https://dl.doubtnut.com/l/_x1SENgCpVGjc
https://dl.doubtnut.com/l/_w1rlgjAZuyVI


Watch Video Solution

26. Which of the following pairs of elements

would have a more negative electron gain

enthalpy? 

O or F

Watch Video Solution

27. Which of the following pairs of elements

would have a more negative electron gain

https://dl.doubtnut.com/l/_w1rlgjAZuyVI
https://dl.doubtnut.com/l/_DtKIWaXK8OzP
https://dl.doubtnut.com/l/_N22fhCZgv6ZT


enthalpy? 

For Cl

Watch Video Solution

28. Would you expect the second electron gain

enthalpy of O as positive , more negative or

less negative than the first? Justify your

answer.

Watch Video Solution

https://dl.doubtnut.com/l/_N22fhCZgv6ZT
https://dl.doubtnut.com/l/_koIEfRv15Ug7


29. What is the basic difference between the

terms electron gain enthalpy and

electronegativity?

Watch Video Solution

30. How would yon react to the statement that

the electronegativity of N on Pauling scale is

3.0 in all the nitrogen compounds?

Watch Video Solution

https://dl.doubtnut.com/l/_BpZrgZoqwOiT
https://dl.doubtnut.com/l/_6ojRw7gppNFD
https://dl.doubtnut.com/l/_DUmVZTWrbQqi


31. Describe the theory associated with the

radius of an atom as it 

gains an electron

Watch Video Solution

32. Describe the theory associated with the

radius of an atom as it 

loses an electron

Watch Video Solution

https://dl.doubtnut.com/l/_DUmVZTWrbQqi
https://dl.doubtnut.com/l/_cXshl83pAS0D
https://dl.doubtnut.com/l/_ohkqUXvwz31F


33. Would you expect the first ionization

enthalpies for two isotopes of the same

element to be the same or different? Justify

your answer.

Watch Video Solution

34. What are the major differences between

metals and non-metals?

Watch Video Solution

https://dl.doubtnut.com/l/_ohkqUXvwz31F
https://dl.doubtnut.com/l/_bgVJY1GzoGHt


35. Use the periodic table to answer the

following questions : 

Identify an element with five electrons in the

outer subshell.

Watch Video Solution

36. Use the periodic table to answer the

following questions : 

Identify an element that would tend to lose

two electrons.

https://dl.doubtnut.com/l/_3MedANYHFjLs
https://dl.doubtnut.com/l/_f8vFNJjHtp04


Watch Video Solution

37. Use the periodic table to answer the

following questions : 

Identify an element that would tend to gain

two electrons.

Watch Video Solution

38. Use the periodic table to answer the

following questions : 

https://dl.doubtnut.com/l/_f8vFNJjHtp04
https://dl.doubtnut.com/l/_uAjUYW21XmBr
https://dl.doubtnut.com/l/_R9fpMuZtXbpy


Identify the groups having metal, non-metal,

liquid as well as gas at the room temperature.

Watch Video Solution

39. The increasing order of reactivity among

group 1 elements is

 whereas that

among group 17 elements is

. Explain.

Watch Video Solution

Li < Na < K < Rb < Cs

F > CI > Br > I

https://dl.doubtnut.com/l/_R9fpMuZtXbpy
https://dl.doubtnut.com/l/_8SzCaM7NIFMT
https://dl.doubtnut.com/l/_vGbb43Qn1DQl


40. Write the general outer electronic

configuration of s-, p-, d- and f- block elements.

Watch Video Solution

41. Assign the position of the element having

outer electronic configuration  for n =

3, in the periodic table.

Watch Video Solution

ns2np4

https://dl.doubtnut.com/l/_vGbb43Qn1DQl
https://dl.doubtnut.com/l/_dFsRZe1T560d


42. Assign the position of the element having

outer electronic configuration 

for n = 4 in the periodic table.

Watch Video Solution

(n − 1)d2ns2

43. Assign the position of the element having

outer electronic configuration

 for n = 6, in the

periodic table.

Watch Video Solution

(n − 2)f 7(n − 1)d1ns

https://dl.doubtnut.com/l/_d4W1wweBbqeD
https://dl.doubtnut.com/l/_5Z06n2D05ByH


44. The first ( ) and the second ( )

ionisation enthalpies (in kJ mo  ) and the 

) electron gain enthalpy (in kJ mo  )

of a few elements are given below : 

 


Which of the above elements is likely to be : 

the least reactive element?

Watch Video Solution

Δi, H1 Δ, H2

l− 1

(ΔegH l− 1

https://dl.doubtnut.com/l/_5Z06n2D05ByH
https://dl.doubtnut.com/l/_Nyqo2Dq48fVi
https://dl.doubtnut.com/l/_f396AVDfb3in


45. The first ( ) and the second ( )

ionisation enthalpies (in kJ mo  ) and the 

) electron gain enthalpy (in kJ mo  )

of a few elements are given below : 

 


Which of the above elements is likely to be : 

the least reactive element?

Watch Video Solution

Δi, H1 Δ, H2

l− 1

(ΔegH l− 1

https://dl.doubtnut.com/l/_f396AVDfb3in


46. The first ( ) and the second ( )

ionisation enthalpies (in kJ mo  ) and the 

) electron gain enthalpy (in kJ mo  )

of a few elements are given below : 

 


Which of the above elements is likely to be : 

the least reactive element?

Watch Video Solution

Δi, H1 Δ, H2

l− 1

(ΔegH l− 1

https://dl.doubtnut.com/l/_tHQLk0TyQ1xk
https://dl.doubtnut.com/l/_HvTglsn2jKtP


47. The first ( ) and the second ( )

ionisation enthalpies (in kJ mo  ) and the 

) electron gain enthalpy (in kJ mo  )

of a few elements are given below : 

 


Which of the above elements is likely to be : 

the least reactive element?

Watch Video Solution

Δi, H1 Δ, H2

l− 1

(ΔegH l− 1

https://dl.doubtnut.com/l/_HvTglsn2jKtP


48. Calculate the work done when 1.0 mole

water at 373K vaporizes against an

atmospheric pressure of 1.0 atmosphere.

Assume ideal gas behaviour.

Watch Video Solution

49. The first ( ) and the second ( )

ionisation enthalpies (in kJ mo  ) and the 

) electron gain enthalpy (in kJ mo  )

of a few elements are given below : 

Δi, H1 Δ, H2

l− 1

(ΔegH l− 1

https://dl.doubtnut.com/l/_LNegxHTMpKYr
https://dl.doubtnut.com/l/_shjVbj5r6ZEm


 


Which of the above elements is likely to be : 

a reactive metal

Watch Video Solution

50. Predict the formulae of the stable binary

compounds that would be formed by the

combination of the following pairs of

https://dl.doubtnut.com/l/_shjVbj5r6ZEm
https://dl.doubtnut.com/l/_HHZpJ45xwJHX


elements. 

Lithium and oxygen

Watch Video Solution

51. Predict the formulae of the stable binary

compounds that would be formed by the

combination of the following pairs of

elements. 

Magnesium and nitrogen

Watch Video Solution

https://dl.doubtnut.com/l/_HHZpJ45xwJHX
https://dl.doubtnut.com/l/_iC62sWBMOQwz
https://dl.doubtnut.com/l/_bEqyG95EmhIH


52. Predict the formulae of the stable binary

compounds that would be formed by the

combination of the following pairs of

elements. 

Aluminium and iodine

Watch Video Solution

53. Predict the formulae of the stable binary

compounds that would be formed by the

combination of the following pairs of

https://dl.doubtnut.com/l/_bEqyG95EmhIH
https://dl.doubtnut.com/l/_PBzsbjQtbbxp


elements. 

Silicon and oxygen

Watch Video Solution

54. Predict the formulae of the stable binary

compounds that would be formed by the

combination of the following pairs of

elements. 

Phosphorus and fluorine

Watch Video Solution

https://dl.doubtnut.com/l/_PBzsbjQtbbxp
https://dl.doubtnut.com/l/_OGDlNRNeBQv5
https://dl.doubtnut.com/l/_K8IIz1H8ep0q


55. Predict the formulae of the stable binary

compounds that would be formed by the

combination of the following pairs of

elements. 

Element 71 and fluorine.

Watch Video Solution

56. In the modern periodic table, the period

indicates the value of :

A. atomic number

https://dl.doubtnut.com/l/_K8IIz1H8ep0q
https://dl.doubtnut.com/l/_GM1QoNaGz5yg


B. atomic mass

C. principal quantum number

D. azimuthal quantum number.

Answer:

Watch Video Solution

57. Which of the following statements related

to the modern periodic table is incorrect?

https://dl.doubtnut.com/l/_GM1QoNaGz5yg
https://dl.doubtnut.com/l/_POdJ8jkvZWn2


A. The p-block has 6 columns because a

maximum of 6 electrons can occupy all

the orbitals in a p-subshell.

B. The d-block has 8 columns because a

maximum of 8 electrons can occupy all

the orbitals in a d-subshell.

C. Each block contains a number of

columns equal to the number of

electrons that can occupy that subshell.

https://dl.doubtnut.com/l/_POdJ8jkvZWn2


D. The block indicates the value of

azimuthal quantum number (/) for the

last subshell that received electrons in

building up the electronic configuration.

Answer:

Watch Video Solution

58. Anything that influences the valence

electrons will affect the chemistry of the

https://dl.doubtnut.com/l/_POdJ8jkvZWn2
https://dl.doubtnut.com/l/_JnqEaKzaF5s9


element. Which one of the following factors

does not affect the valence shell?

A. Valence principal quantum number (n)

B. Nuclear charge

C. Nuclear mass

D. Number of core electrons

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JnqEaKzaF5s9


59. The size of isoelectronic species , Ne

and  is affected by

A. nuclear charge (Z)

B. valence principal quantum number (n)

C. electron-electron interaction in the

outer orbitals

D. none of the factors because their size is

the same.

Answer:

−F −

Na+

https://dl.doubtnut.com/l/_yxVHpDZDpEDe


Watch Video Solution

60. Which one of the following statements is

incorrect in relation to ionization enthalpy?

A. Ionisation enthalpy increases for each

successive electron.

B. The greatest increase in ionisation

enthalpy is experienced on removal of

electron from core noble gas

configuration

https://dl.doubtnut.com/l/_yxVHpDZDpEDe
https://dl.doubtnut.com/l/_kWy5seitfaF1


C. End of valence electrons is marked by a

big jump in ionisation enthalpy.

D. Removal of electron from orbitals

bearing lower n value is easier than from

orbital having higher n value.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_kWy5seitfaF1


61. Considering the elements B, Al, Mg, and K,

the correct order of their metallic character is

:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

B > Al > Mg > K

Al > Mg > B > K

Mg > Al > K > B

K > Mg > Al > B

https://dl.doubtnut.com/l/_MT8he5jSEQzl


62. Considering the elements B, C, N, F, and Si,

the correct order of their non-metallic

character is :

A. B  C  Si  N  F

B. Si  C  8  N  F

C. F  N  C  B  Si

D. F  N  C  Si  B.

Answer:

Watch Video Solution

> > > >

> > > >

> > > >

> > > >

https://dl.doubtnut.com/l/_DoxKQlSj5me7


63. Considering the elements F, Cl, O and N,

the correct order of their chemical reactivity in

terms of oxidizing property is :

A. F  Cl  O  N

B. F  O  Cl  N

C. Cl  F  O  N

D. O  F  N  Cl.

Answer:

Watch Video Solution

> > >

> > >

> > >

> > >

https://dl.doubtnut.com/l/_xyiQDgHAdU2z



